

-61/2-

b.y.o permit (corkage \$2 per glass)

note: please advise the waiter of any food allergies when ordering.

restaurant capacity is 100 guests if you are looking for a venue to have a party or any other functions, give us a call and we will make a special night for you.

we can cater for all occasions.

all about cooking fresh food we do not use coconut oil, milk, cream or cooking wine.

we specialize in vegan, vegetarian and gluten free dishes.



7 days a week



345 lonsdale st dandenong vic 3175 03 8774-6778 0423-511-477 info@salang.com.au www.salang.com.au

SALANG BANQUET

\$80 per person (minimum 2 people \$160)

-642-

1.mantoo & ashak (entree) 2.four types of kebab (tikka, chicken, shami & chopan) tikka - lamb backstrap, chicken - thigh fillet, shami - minced lamb, chopan - lamb on bone 3.eggplant golden fried eggplant topped with a touch of light garlic yogurt & herbs. 4.qabuli palow basmati rice tossed with grated carrots & sultanas. 5.orange palow basmati rice tossed with orange peel, pistachio & almonds. 6.spinach 7.salad & bread



CHEFS BANQUET

\$70 per person (minimum 2 people \$140)

<u>______</u>

1.mantoo (entree) 2.three types of kebab (tikka, chicken & shami) tikka - lamb backstrap, chicken - thigh fillet, shami - minced lamb 3.eggplant golden fried eggplant topped with a touch of light garlic yogurt & herbs. 4.qabuli palow basmati rice tossed with grated carrots & sultanas. 5. orange palow basmati rice tossed with orange peel, pistachio & almonds. 6.salad & bread

SPECIAL BANQUET

\$65 per person (minimum 2 people \$130)

6**>

1.mantoo (entree) 2.three types of kebab (tikka, chicken & chopan) tikka - lamb backstrap, chicken - thigh fillet, chopan - lamb on the bone. 3.eggplant golden fried eggplant topped with a touch of light garlic yogurt & herbs. 4.qabuli palow basmati rice tossed with grated carrots & sultanas.

basmati rice tossed with grated carrots & suitanas. 5.orange palow basmati rice tossed with orange peel, pistachio & almonds. 6.salad & bread

\`0**'**/

BANQUET 1

61/0

\$60 per person (minimum 2 people \$120)

1.mantoo (entree) 2. two types of kebab (tikka & chicken) tikka - lamb backstrap, chicken - thigh fillet 3.eggplant golden fried eggplant topped with a touch of light garlic yogurt & herbs. 4.qabuli palow basmati rice tossed with grated carrots & sultanas. 5. orange palow basmati rice tossed with orange peel, pistachio & almonds. 6.salad & bread

BANQUET 2

61/0

\$50 per person (minimum 2 people \$100)

1. mantoo (entree) 2.two types of kebab (chopan & chicken)chopan - lamb on the bone, chicken - thigh fillet, 3.eggplant golden fried eggplant topped with a touch of light garlic yogurt & herbs. 4.qabuli palow basmati rice tossed with grated carrots & sultanas.

5. orange palow basmati rice tossed with orange peel, pistachio & almonds. 6.salad & bread

<u>`</u>0'/

VEGETARIAN BANQUET 1

\$55 per person (minimum 2 people \$110)

61/0

1.vegetarian mantoo (entree) 2.eggplant golden fried eggplant topped with a touch of light garlic yogurt & herbs. 3.qabuli palow basmati rice tossed with grated carrots & sultanas. 4.orange palow basmati rice tossed with orange peel, pistachio & almonds. 5.spinach 6.dhaal 7.salad & bread

VEGETARIAN BANQUET 2

\$50 per person (minimum 2 people \$100)

6110

1.vegetarian mantoo (entree) 2.eggplant golden fried eggplant topped with a touch of light garlic yogurt & herbs. 3.qabuli palow basmati rice tossed with grated carrots & sultanas. 4.orange palow basmati rice tossed with orange peel, pistachio & almonds. 5.potato & beans. 6.dhaal 7.salad & bread

ENTREES

\$7



Bolani \$12 - \$15

Traditional flat bread, layered with choice of Afghan chives, pumkin or potato served with garlic yogurt dip.



Afghan Garlic Bread \$9

Served with yogurt dip.



Salad Amazing fresh salad.



Bowl of Chips

Bowl of Chips



Trio Dip with \$10 Bread

Seasonal trio of dips with fresh bread, perfect for sharing and savoring.



Soup

Your choice of chicken or vegetarian soup.

\$10

\$8



KEBABS

All kebabs are served with bread, salad and chutney



Tikka Kebab \$34.90

(4 skewers) – Succulent tender lamb back strap pieces, spiced & marinated, charcoal cooked.



Chicken Kebab \$34.90

(4 skewers) – Thigh fillet, charcoal cooked.



Chopan \$34.90

(4 skewers) – Lamb on the bone, charcoal cooked.



\$34.90

(4 skewers) – Minced lamb, charcoal cooked.



Chicken Chapli \$34.90 Kebab

(4 pieces) – chicken breast & vegetables paties fried.



Lamb Chapli Kebab

\$34.90

(4 pieces) – Lamb & vegetables paties fried.



Lamb Cutlets \$39.90

(6 pieces) Tender lamb cutlets, charcoal cooked, served on a bed of white rice.



Mixed kebabs \$34.90

(4 skewers) your choice of Tikka, Chicken, Chopan or Shami kebab.



MAINS 640 Add a side rice - \$15.90

\$32.90



Manto

Pastry filled with minced lamb & vegetables served with lentils & yoghurt sauce. (10 pieces)



Ashak

\$34.90

(10 pieces) (V) - pastry filled with afghan chives & coriander served with red kidney beans with garlic sauce.



Vege Manto \$32.90

Pastry filled with mixed vegetables served with lentils & yogurt sauce. (10 pieces)



Burani Banjaan \$32.90

Golden fried eggplant topped with a touch of light garlic yoghurt served with bread.



Lamb Korma \$31.90

Lamb pieces with potatoes served with bread.



Potato & Beans \$24.90

Cooked with mixed vegetables, served with bread.



Chicken Korma \$25.90 Chicken pieces served with bread.

\$22.90



Kofta

\$25.90

Minced lamb meatballs with mixed vegetables served with bread.



Lentils with bread. (may contain seeds)

Dhaal



Green Spinach.



RICE DISHES -649-

*All Rice Comes with choice of lamb korma, chicken korma, kofta, lamb shank, spinich, dhaal or potato & beans.



Challow

White rice.

\$29.90



Palow

\$29.90



Qabuli Palow \$31.90

Basmati rice tossed with grated carrots & sultanas.



Orange Palow \$34.90

Basmati rice tossed with orange peel, pistachio & almonds.

KIDS MEALS -642-



Chicken Nuggets \$12.90

6 chicken nuggets and chips.



Chicken Tender \$12.90

3 chicken tenders with chips.



DESSERTS



Jelabi \$9.90

Pot of tea and 5 pieces Jelabi.



Gulab Janam

\$12.90

Pot of tea and 5 pieces Gulab Janam.



Baklava

1 piece **\$4.50** 5 pieces **\$20** 10 pieces **\$35**

	DRINKS		
	(24×3	
DOUGH	\$10	CHAI	\$5
Jug Small		Teapot	
DOUGH	\$20	CHAI	\$2.50
Jug Large		Cup	
DOUGH	\$3.50	Coffee	\$4
Glass		Coffee	
Soft Drinks	\$5	Kids Drinks	\$2.50
Soft Drinks		Kids Drinks	

